PART—I / wr—I
CHILD DEVELOPMENT AND PEDAGOGY / ae farma 3irt frern -

Directions : Answer the following questions | 3y : f=feiad Jl & N R F o =d/wm)
by selecting the correct/most appropriate | 3ugw fascd gf)

options.
1. Creativity is thought to be related to 1. gemeEd B i SR 4 W
the concept of— T ST g
(1) crystallized intelligence (1) @ER gl
(2) convergent thinking (2) S;Iﬁ:l'qﬂﬁf‘_"
(3) divergent thinking '(3) fafay 9=
(4) fluid intelligence (4) 2d Sfghdl

. The acceptable sounc! com}ainfations of . Tl o % witea e K RS CUE ARELC
?u::;guage are specified in its _____ Frat ¥ aierta aarn S 2l
(1) grammatical ‘th ST
(2) syntactic alelaa
(3) inflection (3) fantfen-fermas
(4) phonological (4) ai-wad

. The position where thought patterns
are influenced by language is called—

. 5| g R uhE Rl s g wwfaa B

2, @ U fufa =) hed 3—

(1) linguistic determination . (1) W fuffa

(2) cognitive bias (2) SIHTHS 9

(3) sociolinguistic genesis (3) wrTTeR- TR Rya
(4) cultural tendency (4) el wf

. Ravi repairs appliances by testing
hypothesis about the cause of the
malfunction based on his experiences
with the symptoms. He uses—

. I IgEl SR wem ¥ enum w3 §

GUel & FRO K GReFeq . e =
YR < A FT | 98 I A

(1) algorithms /(1) wem-fafyy =

(2) mental set (2) THfY g =
" (3) heuristics (3) Wﬁl‘iﬁm

(4) insight 4) smhw
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S. Divya often divides the assigned job
into small tasks which she can handle
easily. She is using—

(1) secondary elaboration
(2) subgoal analysis

(3) functional fixedness
(4) reductionism

6. “Society determines the roles of

male and female.” This statement
articulates—

(1) gender as a hereditary endowment

(2) gender as an intuitive construct

(3) gender as a social construct

(4) gender as an inherent construct
7. Grading, coding, marking and credit

accumulation systems are some of the
examples of—

(1) symbolizing position of children in
the class

(2) depicting the academic progress in
report card

(3) scoring procedure of assessment of
learners’ achievement

(4) evaluation procedure of answer
sheets of the examination
8. Assessment of learners’ achievement

helps the teachers to—

(1) evaluate the effectiveness of
pedagogy

(2) make ability grouping of learners in
the classrooms

(3) prepare activity log for teaching

(4) maintain the performance record of
learners :

(1) e foamam fafu ==
(2) Ivaea fawamm fafu =
(3) Ferarens sz frame fafy =
(4) ¥4 F 1 fafa =
6. ‘gew IR wfgen N yfiwed w1 Fuion wae
w1 81" g% A Far ¢ fe—
(1) SAfirera Tk rgafRe gl @
(2) SR T SiagiHl s
+(3) it T wITTE SEw
(4) <ifireran T 3fafifea srEe &
7. UfEn, Hfen, 3 R HeZ T=U Womierdl
% 50 R 8|
(1) %en 8 g=31 6 feafa i Frego f&fy
(2) era-v3 (fard +1€) # refe wifa =
EHIE
L(3) sfrmraisti A Iy F Fwe
-t
(4) Wi % ITW-TE1 & Yodiod 1 UTH
8. Jfrmrwdisll H Il F eHeA R
FREA] Hl e—

J(1) Togw-sfirm faftmt B gwedfiaa =
el HA |

(2) HE H ftrwwaisll F WA W
Eoick

(3) e o o nfafafte i o= w3 4
(4) fmmEdis % weu @ ferd @ #
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9. Inclusive Education is based on the 9. wamaeh fhen % frg@ T anaiiE R
principle of—

_ »(1) HHAI T HHM 3a®
(1) equity and equal opportunities &

(2) w3 T Svdie

(2) social existence and globalization

(3) world brotherhood (3) ﬁﬁéﬁm
(4) social equilibrium (4) Wﬁaﬁw
10. The Rights of Persons with Disabilities | 10+ R st sfufis af ___ & wm

Act has been enacted in the year— o w21

(1) 1995 (1) 1995

(2) 1999 (2) 1999

(8) 2016 +(3) 2016

(4) 1992 (4) 1992

11. Childréen with individual differences 11, fwma fafauasi Tﬂﬁ =1 ) 9eN % o @
-should be taught in a school having faemerm 8 =nfee wei fes—
teachers—

(1) Tafau srfrm sawawaedt % agan fafm

(1) trained to use different pedagogy to Rream-afrm wRfE =1 W = 3
meet their diverse learning needs wRifea &
(2) train.ed -to. .teach .children with (2) Rfte =i Rifyumst @ w= 9 wn
specific individual differences 3 T i B
(3) trained to make them homo- @) == W st e EAY
geneous learners qrey e
i & -

(4) to teach in different sections of
classrooms based on their
individual differences

(4) e Rfiumal ¥ smum w FfE A
T Fenad % fafim =1 3 ve1 9%
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12. The Right of Children to Free and
Compulsory Education Act, 2009
ensures the rights of children with
disabilities to free education from—
(1) 3 years to 18 years
(2) 6 years to 14 years
(3) 6 years to 22 years

(4) 6 years to 18 years

13. Providing teaching-learning materials

in accessible formats to the diverse
learners implies—

(1) Universal Code of Teaching
Practices

(2) Universal Humanistic Approach of
Teaching

(3) Universal Design of Learning

(4) Universal Inclusive Education
Ethical Considerate
14. involves self-awareness and

control of cognitive abilities, e.g.,
planning, reviewing and revising, etc.

(1) Metacognition
(2) Cognition
(3) Accommodation

(4) Centration

15. When children think to interpret the

received information according to their
experiences, it is called—

(1) creative thinking
(2) abstract thinking
(3) concrete thinking

(4) reflective thinking

12. Ryes w@ afaEd e foan siver sifufam,

2009 fe=m a=i f Fges e F st
=1 ghifeaa vt 2—

(1) 3a¥ @ 18 o % ¥ foiw
(2) 68 14 o 7% % fog
(3) 6 a8 @ 22 ad a% & forg
(4) 6ad @ 18 = 7% & fag

13. fafau siftrerediedl & fou g @t &

fgo-aftrm wwfiiEl weR F@ # ad
2B

(1) T sqra@TRRa 6 A dfE
(2) fosw ¥ wEifies qHEar gtwm
,(3) tfirm i wEfis ww=A

(4) grefys woash fhan & Ao faem

14, WITTEFAl Td GAETHS SHarst &1 o,

SA—ASAT ST, e SR A S
TS T affed €1

+(1) HEEEY
(2) €W

(3) wHTESH
(4) iR

15, 51 9= W & ¢ gEARi 6l FEm F 1 F

e o ogvEl & SmuR W NG §, @ W
i 1

e (1) AT Ei
(2) s W

(3) 7d @

(4) s @

Scanned by CamScanner



16. ﬁmﬁ@mm%mﬂﬁﬁ
+fedl ¥ it Tl A e A T gL TR

16. Teaching learners at varying levels of
difficulty based on the ability of

individual learner is known as— # fafa = g1 ST
(1) selective instruction (1) afra eﬂ%!n:l
(2) precision teaching 2 T TEm
(3) errorless instruction
(3) FRAA rgeTH
(4) differentiated instruction
(4) T srgem

17. Maintenance is the specific stage of
. ; 17. Shrer st 1 o ffie o @, s st

learning which is antecedent to __

stage of learning. EZ ___WWW%|
(1) motivation ,(1) A

(2) independent (2) S IREICE LG

(3) generalization (3) W

(4) acquisition (4) femeo

18. Zajonc believes that cognition and 18. WS T q® 3 f% gy 3R WE

emotion are— A E
(1) independent .

(1) =
(2) interrelated o

(2) adsia
(3) integrated

(3) T
(4) interdependent

(4) A=A

19. A teacher is teaching children by
demonstration of a task to correct the 19. 78 A €@ T @l 1 FuR an ¥ R

peiormances of an aleads leamed | G et vt oo 1 e
teaching. P— ;

(1) observation (1) e

(2) correction '(2) e

(3) modelling | (3) wfereqor

(4) imitation | (4) AFFM

T™ TT fwu
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20. According to Mann and Janis, decision

21.

22.

23.

maker children analyze the problem,
list the alternatives and weigh each
option for its advantages and
disadvantages. His behaviour reflects—
(1) vigilant

(2) outgoing

(3) autocratic

(4) surveillance

In thinking, a child as a problem

solver evaluates the truth or likelihood
of statements.

(1) aesthetic

(2) abstract

(3) logical

(4) creative

The task in which the children get
experience while enjoying themselves
is known as—

(1) consumer type task

(2) producer type task

(3) problem type task

(4) drill and practice task

Multisensory approach in teaching-
learning is the simultaneous use of

visual, auditory, tactile and
senses to enhance learning.

(1) vestibular
(2) perceptual
(3) observational

(4) kinesthetic

20. #3 ik Sf@ ¥ e, fol 0

21.

22.

23.

T TR
R 1 favew Fxd 8, faeed A g =
2 o Tud v RN JHFEMA F TAF TRe W
foam &1 T8 HaER wegd T 2
(1) |aH
(2) Fadam
(3) Figw
+(4) =
T GEE gUWE a=1 _ fauR % R w
FHYA] I TS Y1 GHIEA 1 YodiHA HT 2
(1) dicday

(2) ¥md

. (3) afdes

(4) gsHIcHS

firm fog U w1 # F T T WA A 9
FU 3794 W0 A &, I gl W R

(1) YN WhR 1 HE

(2) Frfoens wR %1 F-

(3) ATETHE YEHR H FH

\(4) 5@ 3R s

Tg-vad Fgm-afem K wfafy & sftem-
Haud € 3@, ¥4, ¥ AR ____ waewe
1 T Ty 7AW TR S R

(1) =i-shR

(2) weafien

(3) rEEE

.(4) Tfeea®
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24. The development from central part of
the body towards peripheries or
extremities denotes the—

(1) principles of decentralized develop-
ment

(2) principles of proximodistal develop-
ment

(3) principles of cascade development

(4) principles of radiated development

25. School is an institution of socialization
of children where—

(1) school routines occupy the central
position

(2) school activities occupy the central
position

(3) schoolteachers occupy the central
position

(4) schoolchildren occupy the central

position

26. If you join a teacher fraternity and
choose to dress like most of the others
in your group, you are exhibiting—

(1) obedience
(2) compliance
(3) conformity

(4) group identity

24, TR ¥ Fg wm A qRftE T S AR H
frra Toifan 3—

(1) fadiga fasm & Rrgidt =
.(2) neA-aT fosra o fagidl
(3) wurha fsra % ferdl
(4) Tafpofa e % i @
25. W@ W ¥ wAeie@ A TH T w
& SE—
(1) W@ T whe i =l 1 € @
.(2) W@ T e Sl Tiafatid 1 e R
(3) @m@%ﬁaﬁmﬁm%
(4) V@ T T = I R
26. 5@ 39 T g IR ¥ I3 9 ¥ R oW

WE I A oA TR N aww A
A ®, T Y ¥eTH W © T o—

(1) O TR 61
(2) W Tém-srgurer #1
y(3) TR F JTEYa H

(4) ¥ F IEEH F

Scanned by CamScanner



27. The concept of object permanence is
attained during Piaget’s stage of
development.

(1) preoperational
(2) concrete operational
(3) formal operational

(4) sensorimotor

28. Individualized Education Programme is
planned from the perspective of—

(1) Child-centered Education
Programme

(2) Open School Education Programme
(3) e-Learning Education Programme

(4) Special Education Programme

29, Between months of age, most
children begin to combine words into
short sentences while speaking.

(1) 18 and 24
(2) 24 and 30
(3) 30 and 36
(4) 12 and 18
30. The concept of Intelligenée Quotient
or 1Q was developed by—
(1) Binet
(2) Stern

(3) Terman

(4) Galton

27. fFfl =g ¥ Wit 6 sEurm o ¥
T % ____ = & ym o R

(1) E-afEem
(2) 7 e

(3) 3fry=ries gftaTem

(4) HaR-THH

28, =fwa fien wdHa i s F Hed |

TR ST R

(1) =Ta-hiza fen FEEd

(2) T forarerh fen s

(3) 3-afrm foen #riwn

" (4) T foen wrisEw

29. A I & d= st
=1 # fiaE SR-vr Tt # ded

e

=
i®

(1) 187 24
.(2) 24 %30
{3) 30 36

(4) 12918

30. Fheafed 41 3Mgo Fo Y s@uwon § 7§ fi—
J(1) TR % 5@
(2) ®A & g
(3) T * T
(4) frerel & g

Scanned by CamScanner



Directions :

| PART—II / wm—II
MATHEMATICS AND SCIENCE / 7fim 3 fimm

t Answer the following questions

by sclecting the correct/most appropriate
options,

31. If two quantities x and Y vary inversely

with each other, then which one of the
following is true?

(1) Product of their corresponding
values remains constant.

Summation of their corresponding
values remains constant.

(2)

(3)

Difference of their corresponding
values remains constant.

(4)

Ratio of their corresponding values
remains constant.

32. Given

33.

Ty

x6

yyy
Then the value of y is—
(1) 6 (2) 4
(3) 2 (4) 8

To fill a rectangular tank of area
700 m?, 140 m® of water is required.
What will be the height of the water
level in the tank?

(1) 20 cm
(2) 30 cm
(3) 40 cm
(4) 10 cm

33.

P« Frafafaa vl & sm 23 % foo wét/wad
Iugw fasey g

Al

3l A TRl x 3Ry H-g@ F g w6 b

T23-T%d ¢, ol Frefafad § | F9- g 27

(1) % w&Efm o %1 E FEEE =
TEdl 21

(2) 7% ¥Efd 9l w1 9m vEEEE =
T 2|

(3) % Weftm WAl 1 AW THEER =N
@

(4) % Hlod AH F G GHEAE I
Tl 2|
. a2
7y
X6
yyy
T y AR p—
(1) 6 .(2) 4
3) 2 (4) 8

700 m? §9%d ¥ UF AR 3% 1 v X

e 140 m3 9 A sravEsa 21 5% § g
F TR S T Bri?

.(1) 20 cm

(2) 30 cm
(3) 40 cm
(4) 10 cm
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34.

35.

36.

Which one of the following is the most
suitable strategy to teach the skill of
addition of money?

(1) Role play

(2) Use of models

(3) Doing lots of problems

(4) Use of ICT

After teaching the concept of multipli-
cation to her class, a teacher asked her
children to multiply 48 by 4.

One of her students solved it orally
as “To multiply 48 by 4, we first
add 48 to 48, which makes 96 and
then add another 96 to reach 192. So,
the answer is 192",

What can you say about his/her

strategy of multiplication?

(1) He/She has not understood the
concept of multiplication.

(2) The given problem is a multipli-
cation problem and not addition
problem.

(3) He/She understood multiplication
as repeated addition.

(4) The child used a wrong method to
multiply. He/She has to use the
place value algorithm to multiply
the numbers.

Which one of the following should

be taken up as initial activity in

introducing the concept of ‘time’ to

young learners?

(1) Teaching children how to read time
in clock

(2) Teaching children how to calculate
elapsed time

(3) Conversion of time in different
units

(4) Discussing about the prior
experiences with phrases related
to time

34, fefafaa 3 4 901 % 9m = e wen
fore v 397 R P-d 27

(1) &=

(2) wWigs F1 g@m

(3) =igd ATl WHEA /9 &A@ Fn
(4) 330 Hlo do F1 ITM

35. A Fa § N H FEURN F UG F e,
% e A o 9= @ 48 | 4 A N T
= Fe |

T BE A A A @ dfas = A
frar, 48 M 4 A TN FA F T T IR 48
3 48 wied &, @@ 96 wwar @ st fiw
96 3R WA %, @ 192 a1 ¥l 39 THR IN
1922”1

T Il WHIfG F aR A 9 R OFR

ghd &7

(1) 38 on < sEyRon gug § 76 o Ry

(2) @ 7 wwEn T PN e @ A a9 f
THE T R

(3) 3T TN I IR-R I F ®9 A qHAT 2|

'(4) ¥ A TN FA & g Tea oy @ oI
T wEmsl S o e % foe =@
W WA YEigR 1 3990 %= =i

36. 91 F GHY I JFEYURON F AT FE B
e yrfvs nfafafy % w9 3 fefafaa 3 @
FH-9 ) S =fke?

o(1) o= B er T 9 d wwm N W
Tel SY

(2) ==i ® g f% dQ gC @@ K A
F4 =t

(3) Tofira Tormeal # w9a &1 FIRY FT

(4) T9T @ Heita G 6 WY Td a5
TR | == Fn
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37.

38.

39.

Which one of the following is not the
purpose of assessment?

A. Monitoring student’s growth
B. Making instructional decision

C. Evaluating the effectiveness of
curriculum

D. Ranking the children based on
performance

Select the correct answer using the
code given below.

(1) D
(2) B
3 C
4) A
Which one of the following methods is

most suitable for teaching mathematics
at upper primary level?

(1) Lecture method
(2) Activity-based learning
(3) Problem-solving method

(4) Demonstration method

Which one of the following is most
essential in learning mathematics at
upper primary level?

(1) Exploring different ways of solving
a problem

(2) Memorizing all formulas

(3) Copying correctly what teacher
writes on the board

(4) Solving a‘problem many times

37. F=feRad # 4 SH-a1 g @1 vy 7 27
A. o1 % fawm $ fore e
B. ficwe fiofa o
C. UISTshH % YqTaefieral &1 Gedia
D. We¥H % MuR W == it e wen
= fow I 2 1 wEm = W ghuy
»(1) D
«(2) B
(3) C
(4) A

38. 3= Wufhs T W [ wer & fore Fefafaa
T FA-41 fafy v i 39w 27
(1) =aEF fafy
(2) Tifafaiy-snafa sftm
(3) wwwr-wiuE fafy
, (4) wexfA fafy

39. 3= WUfiE W W @ ARrm ¥ fig
frafofaa 3/ FF-w vl stfte savas 27

+(1) Toreht wren =) &@ F0 5 foftw @t 6
ERC|

(2) |+t A Al IR HE

(3) Toes & W < forgan ?, Su 9t <1
T BT

(4) TH GHET I FE 91 FA FAI
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40. The strategy of questioning used in the

41.

mathematics class at upper primary
level—

(1) makes the classroom noisy as the
children would be talking too much

(2) could create stress among children
and may lead them to accept the
teacher’s authority

(3) helps children to express their
thoughts or understanding and
think critically

(4) should be discouraged as it
demoralizes the child who is unable
to answer

A teacher has taught measurement of
area to class VIII children, but many of
her students are confused between the
usage of different units of area and
volume. What could be the reason for
such a confusion in children?

(1) The children have not memorized
different units.

(2) Different units have been
introduced all together without
relating them with their daily life.

(3) The concept of measurement of
area is a difficult topic for a
class VIII learner. :

(4) The children did not know the use
of units for area.

40. 3= MM TR R TR A wen § 3w )

qTeht 4SS H WHifG—

(1) mmaﬁzﬁgﬂwm%mﬁa@

ECIHECIG

(2) =l & #= a1 Y1 W FEd ¢ i
Tes F AUFER H HFR FA F
EEEECTR

,(3) ==l @I I Fa=R T G FF FA 3N
ATAGATRE €9 @ G9q 3 7ee = ®

(4) @I gdicaTied ST IIEC FifH 98 I9 9
1 a1 feard & < 3w A o o R

41. & g 3 w81 VI & S91 $1 89%a 9199

To@m B, A 37 #5819 896 IR G
1 fafim gogal & 3wEm & 9 Iaem § )
T U 39 TR & 9 F1 HRO F4G] B Gohal 27

(1) == 3 fafm st = 4 7 B 2

(2) 3FCEH-3FEM T F FH &fF e A
Haf‘t%aﬁqﬁmmﬂﬁmmam
T R

(3) =& VI % Theneff & foe dowe wmw i
JGUNN Teh Hied famg B)

.(4) s R Gedl < THEET H ITEM T
T 91l '
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42. Which one of the following can be the
most appropriate aim of encouraging
mathematical communication in
classroom?

(1) Children who have fear about
mathematics should be able to
interact in the class

(2) To organize debates in the class
regarding topics of mathematics

(3) Children should be able to recite
theorems and formulas in
mathematics class

(4) Children should be able to use a
precise language while talking
about mathematical statements
and using them

43. The purpose of a diagnostic test in
mathematics is—

(1) to give feedback to the parents
(2) to fill the progress report

(3) to plan the question paper for the
end term examination

(4) to know the gaps in children’s
understanding

44. Remedial teaching is helpful for—
(1) recapitulating the lesson
(2) teaching in play-way method

(3) removing learning difficulties of
weak students

(4) teaching the whole class

42. & A nftrdia Smate F e w0 5 e
37 3wy Frafafad 3 A ¥-m @ gea 27

(1) @} A IR FH A Fan F g F
arasid w0 (3a:5F) § gem g =i

(2) T F fowdi F M F Fen ¥ wEw
G '

(3) =N = T i ke F wAE S G F
JrEA | HEH BT |1

.(4) frdtg faaoo % 4R § 9@ F@ g
ITF I WA G9E 9= F
W91 1 I9ANT I H G&H T MR

e

43, T & Yl e 1 e 2
(1) =mar-faen = wlafwan &0
(2) wifd 9 s
(3)ﬁaﬂmmﬁwﬁlqﬁm%%qm—qaﬁ

2 (4) o= R O § IR AT

44, ITENE e gegs —

(1) T i groghi %

(2) @a-Arl faft g fieor % forg

(3) IR BET A Had N FRARE B R
F & forg

(4) 0 <hem =R YoM F fog
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45.

46.

Which one of the following is not a
mathematical process?

(1) Memorization

(2) Estimation

(3) Measurement

(4) Visualization

“Errors play a crucial role in learning of

mathematics.” This statement is—

(1) true, because errors reflect the
thinking of child

(2) false, because mathematics is exact

(3) true, because errors provide
feedback about the marks they
obtained

(4) false, because errors occur due to
carelessness

45. frefafad & ¥ FR-@ @ i
T 27 i

. (1) T

(2) SAThe

(3) ®HA

(4) wHEEEE

46. ‘i HrEA A Ffeal wF wewqy e frd

21" =@ F —

.(1) &=, Fifh AT o= N 9= N wid B

(2) I, Hifs [ wdE ®

(3) ¥, wifs FAi ww FH F AR A
gfefshan TeH wd &

(4) 3@, FiF TET F FRU FRET B &
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47. While teaching ‘shapes’, a teacher can

48.

plan a trip to historical places, as—

A. it needs to provide leisure time as
most of the syllabus has been
completed in time

B. it would be an opportunity to
improve communication skill

C. shapes are an integral part of every
architecture and such trips
éncourage connections across
disciplines

D. field trips are recommended by
Education Board, so must be
organized

Select the correct answer using the

code given below.

(1) C

(2) B and C

(3) A, Cand D

(4) A and B

A student was asked to calculate the

surface area of a cube.

He calculated the volume.

The reason(s) of error in calculation

is/are— -

A. the student finds the class
boring as he does not like
mathematics class

B. the student is not fit to study in
that class

C. the student is not able to
understand the concept of surface
area and volume

D. the student has understood the
concept of surface area and volume

Select the correct answer using the

code given below.

(1) Band C

(2) D

(3) A and B

4 C

47. ‘& Yo g, Tk igs Udefis e

1 I A S Gehal B, i —

A. JEFR THY T HH | AEEHA 2
Hifd AUFHW TETET T W W D
T 8

B. Y& HOR H1Ead § R HA H1 SFGE B

C. ¥R W aTeghen &1 Th Ay fewmm @
AR 3@ W@ N I fawdi F wEy W
Treatfea et &

D. foiem a8 g des Ry f fawfw H

Wt B, TAfC HA @A 39w foRm
1 |1RY

= feu Mo % w1 v W Ed 3w gy
~(1) C

(2) B3R C

(3) A, C3RD

(4) AR B

48. T& O FI T 99 &l Hdg H1 SI%a Hhe &

o 1 @ A
IFA H@aA e

T & FR F/F wRw R /R—

A. BT FE H IAS el 2, MifE W 6
F1 e TEE TE B

B. ggmmmﬁaww%mwﬁ

C. BT TR 1 &%l 3N 3(-ad Fi LR
I wogH o gam ad R

D. BH Ude F1 &9%d AR IEa= H STaymron
EIk: LR

H i T % 1 wEm s i)
(1) B3R C

(2) D

(3) A B
s (4) C
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49, In a meeting, 24—5 of the members were

female. What percent of the members
was this?

(1) 24%
(2) 16%
(3) 4%
(4) 40%
50. A shop reduced its prices by 10%.

What is the new price of an item which
was previously sold for § 500?

(1) ¥550
(2) 450
(3) 400

(4) ¥510

51. Given below 1is a data set of
temperatures (in °C) :

-6, -8, -2,3,2,0,5, 4, 8
What is the range of the data?

(1) 16 °C
(2) 18°C
(3) 10°C

(4) 0°C

49.®%ﬁﬁ,mﬁ@%qﬁmﬁqﬁlw
w1 R vl en?
(1) 24%
. (2) 16%
(3) 4%
© (4) 40%
50. & gHM 3 3! hiFal # 10% A FH H )| T

UE il 7E a1 8, S TEd € 500 § 9=
et oft? _ i

(1) ¥550
. (2) ¥450
(3) ¥400

(4) ¥510

51. R aUER (°C ®) F1 TH ¢ W R R

i _6! _8? -2! 3} 2! 0: 5! 4: 8
221 1 qiER = 7

,(1) 16°C
(2) 18 °C
(3) 10°C

(4) 0°C
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52. A coin is tossed 10 times and the
outcomes are observed as :

HTHLLHHT HH

(H is Head; T is Tail)
What is the probability of getting Head?

(1)
(2)
3)
(4)

vl i~ D »|p

53. The numerical expression %+% =

U‘III\)
[N lé)}

shows that—

(1) rational numbers are closed under
subtraction

(2) rational numbers are closed under
multiplication

(3) rational numbers are closed under
division ;
 (4) rational numbers are closed under
addition -

54, Which one of the following 3D shapes

does not have a vertex?
(1) Prism

(2) Cone

(3) Sphere

(4) Pyramid

4 -3 Sx-2
If (%] X [—2-] = (%] , then x is—

(1) (2)

S5.

(3) (4)

anld N
N~ nlw

52, T% fam1 10 R IBTeN A1 © 3R gfomm
YR 3TFAIeha fhT 9T & ¢ :

H, T, H T, T, H H T H H
(Hfa?; T R)
a0 9T S <hl G = 87

(1)
(2)
(3)

. (4)

mjw ul—= v us

7 8 5
(1) uftlg deaTd Hadher & Aaiid 994 Bt &
(2) iR dE&d UE % Sfwia W94 Bl o
(3) it wed e % fia ¥ga anft &
. (4) uftig dEard 9m % 3ol @9a B §

54, frafafad 3D il & A fral o =&
B 27

58, HEATHF §+@=2—2ﬁ@ﬁﬂ%ﬁ:—

_ (%Jsx-z 8
. (2)

(4)

nli—= wnw
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56.

57.

58.

59.

60.

Let a, b, ¢ be three rational numbers,

where a=%, b:g and c=%5. Which

3
one of the following is true?

(1) a+(b+c)=
(2) a+(b+c)

b+(a+c)
=c+(a+b)
(3) a=(b-c)=c—(a-b)

(4) ax(b+c)= bx(a+c)

A geometric representation, showing
the relationship between a whole and
its part, is—

(1) pie chart

(2) bar graph

(3) pictograph

(4) histogram

If g is the square of a natural
number p, then p is—

(1) the square root of g

(2) equal to g

(3) greater than g

(4) the square of g

The value of yO1+70++121 is—
(1) 10 2 11
(3) 12 @) 9

In a park, 784 plants are arranged so
that number of plants in a row is same
as the number of rows. The number of
plants in each row is—

(1) 28 (2) 38
(3) 48 4) 18

%s.

57.

58.

59.

60.

, (1) 28

"ﬂﬁQﬁ? a, b, c I wfw wem %, wf
—g b——WC——s—%lﬁnﬁ‘iﬁaaﬁ%
ﬁqmm’é?

(1)
(2)
(3)
(4)

a+(b+c)=b+(a+c) .

a+(b+c)=c+(a+b)
a-(b-c)=c-(a-b)

ax(b+c)=bx(a+c)

sl fremw, St R SR 3 oW ¥ =
Ty fam ?, —

(1) I =@

(2) e @
(3) Fe@
(4) fedmm

uﬁq@ﬂ@f?ﬁﬁ@rpﬂ_ﬁ’f%{?ﬁp%—
(1) g =g

“(2) g% wT=K

B) gd ==

(4) qmaﬁ

914470+ V121 &1 WA 3—

-(1) 10 2) 11

(3) 12 4 9

TH 9T H, 784 N8 =yafeyq fry wid & i

qfh § Nl H g, giedl i qe & 99 8
B T2 ufs § i i v 2 —

(2) 38

(3) 48 (4) 18
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61. Which one of the following is not a

62.

63.

64.

product of petroleum?
(1) CNG

(2) Paraffin wax

(3) Bitumen

(4) Kerosene

Red Data Book contains a record of—
(1) extinct species

(2) flora

(3) fauna

(4) endangered species

Why are the soles of the shoes treaded?
(1) To decrease friction

(2) To increase friction

(3) To increase life of the shoes

(4) To give the shoes more protection

‘Sarika took distilled water in a bottle

and tried to find whether it conducts
electricity or not. What is she likely to
find?

(1) It is good conductor of electricity.
(2) It is an insulator.
(3) It is poor conductor of electricity.

(4) None of the above

61. f=fafad 4 | sR-@1 Wi 1 @R
& 27

(]_) Hio THo Mo
(2) Ffed 9m
,(3) fegiA

(4) gt =1 @

62. T qF ____ W IS @l 2|
(1) Taggm wefoat
(2) FEafa

(3) W
.(4) FHeT9d wSifodl

63. I ¥ Hiet sTEEae F Y I 87
(1) 5 Fer % fon
o(2) e TR F forg
(3) S =1 e T F frg
(4) S0 = 3R AR A F fog

64. WIfH 7 3HA o T @iae § o 9% g

T 6 iR o TR e e @ @
T | I/ 1 W B F GrE B7

+(1) TR forgd 1 g R

(2) e T fomgauedt &)

+(3) ¥& g 1 i =T R
(4) ST A & B
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65. Which one of the following statements

66.

67.

is not correct?

(1) There is a maximum limit of
current which can safely flow in the
electric circuit.

(2) Fuses are inserted in electric
circuits of all the buildings.

(3) If the proper fuse is inserted in a
f:ircuit, it will blow off if the current
1s more than the safe limit.

(4) There is a minimum limit of current
which can safely flow in the electric
circuit.

Which one of the following places is
most likely to be affected by a cyclone?

(1) Puri
(2) Mumbai
(3) Goa

(4) Porbandar

The change in seasons on the earth
occurs because—

(1) the axis of rotation of the earth is
tilted with respect to the plane of
its orbit

(2) the distance between the earth and
the sun is not: constant

(3) the axis of rotation of the earth is
parallel to the plane of its orbit

(4) the axis of rotation of the earth
is perpendicular to the plane of
its orbit

65. f=ferfad # A F-m Fum ge 73 27
(1) el T whow 3 gifim wafeg o) &

ferg ferggd, vmn i arfrram <fim 2
(2) B el F feq whesl A
S 1 o A

(3) 3l qfuw # ugE FE @A sw, @
ﬁd&?ﬁ?ﬂmﬁaﬁ‘wﬁ’gﬂm W W TR
g S|

(4) ferelt foggq wfay 4 gd\m.ufm%aaﬁ %
for foeg umn Y =gFam € R)

66. fafifad & ¥ f5e WA N IFa@ A TR

iy gefaa g1 6 dyraar 87
(1) gl

.(2) T

(3) Tl
(4) TRE

67. 9efl W gl aaerdl 8, wife—
(1) 9zt 1 PR e TR A % O & anRe

TR
(2) veh 3w ¥ e g fia

(3) el F UUN e TEH FE F dA *
M

-(4)3933*%%34&13&@%&11%331%

[SIEE
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68. There are two columns, Column—A
and Column—B :

Column—A Column—B

(a) Canopy () Dead plant and
animal tissues
(b) Decomposers (ii) A wild animal
() Humus »(1ii) Microorganism

(d) Porcupine (iv) Branches of tall

69.

tree

Which one of the following is the
correct sequence of Column—B for the
given sequence of Column—A?

(1) (@), (i), (i), (iv)

(2) (i), (iv), (i), (i)

(3) (iv), (i), (i), (ii)

(4) (1), (), (i), (iv)

Why is formative assessment important
in science?

(1) It helps in developing scientific
temper in students.

(2) It is diagnostic.

(3) It helps in better understanding of
science.

(4) It is easy to conduct.

68.

69.

3 T, T—A IR w—B Ry e § -

TI—A wWa—B
(a) g&faaH (i) gl iR Sge ¥
Td FHash
(b) 3T9UEH ({i) LeAEURIES
(c) THd (iii) gEmSia
(d) @t (iv) o2 34 H ImaEng

frafefaa # 4 #-a1 few T w—A &
% STIER TFH—B T Hel A am¢

(1) (@), (i), (i), @)
(2) (i), (iv), (i), ()
(3) (iv), (i), (i), (ii)

(4) (1), (i), (ii), (iv)

o & TorTeTs e bl Hew 37

-(1) = el & Afe gfrdm % fem
e B

(2) e fHemTH R

[3)%:31%31:3% I3 THR | WHFA | GREH
| .

(4) 9B o WA B
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70. Why are science fairs organized in

71.

72.

schools?

(1) To help the students to score
higher in their examination

To

(2) nurture creativity and
experimentation in science among
students

(3) To evaluate students on the basis
of their performance

(4) To prepare students for higher
education in science

As a teacher, which one of the following
do you find most appropriate for
scientific approach to teaching?

(1) Show the use of technology for

teaching concepts
(2)
(3)

Give projects to the students

Ask the students to perform
activities related to the concepts

(4) Clarify the students about the

concepts in the class

According to NCF-2005, “good science
education is true to life”. What does
this mean?

(1) Science should be able to engage
the child meaningfully.

(2) Science should enable the child in

learning the processes of acquiring
scientific knowledge.

(3) Science should help in living easy
life.

(4) Science should prepare the child to
the world of work.

70.

71.

72,

et A fEm @ W IR =\ fEn
Eic RS

(1) Toenfiigi = 7h ol § =3 7= wm
FA # TeErEa w3 F fog
fowm =

(3) fenf¥idi 1 FF W F IuR w
T HH F g

(4) TRl = frem & 3= foan ¥ forg
+3 ¥

&l <l

-(2) Toenfifa % fgm # @ WA o H

& fgs % T Frafafaa 3 & fF em fagw
A Ay T % fog w=d 39w w27

(1) FF@uronst & figw ¥g a1 w1 wEm
Teamn

(2) Toenfdai < g 3

(3 sEne @ weRw TRRRE @

Tenfefal @ Fw

(4) Farfigt =t %an A sEumnel ) wWe
Ec

To Hlo Tho-2005 F IqER, ‘‘I=d fagw
?msﬁm%nﬁmaﬁ%”imww
?

(1) fosm ames = aedgl @0 § = =@ #
e )

.(2) fom aws Ft dofE W afie =0 6

i i Wen s |
(3) foem sram e =dfia w0 & wes R

(4) fom wes = F@ A 3P # wEm T
TR R
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73'

74.

75.

Which one of the following is not a
quality of scientific attitude?

(1) Curiosity to learn more
(2) Objectivity in approach to problems
(3) Hard work

(4) Open-mindedness

Hari wants to teach the circular motion
to class VI students. Which one of the
following will be the best method?

(1) Activity-based teaching
(2) Giving examples
(3) Demonstration

(4) Discussion

Which one of the following is an
important aim of learning science?

(1) To collect the information of
science contents

(2) To imbibe the values of honesty,
integrity and cooperation among
learners

" (3) To help the fellow colleagues in

getting knowledge of science

(4) To get knowledge of science

74. T e VI & Tafiay

73. Firfifan 3 3 P dw g @

e »7

(1) e die A Iegpar

(2) FHEnS % wfd = § Teghma
(3) e wH

(4) gen Aiwrss

Eq
W%lﬁwﬁ«rﬁﬁﬁﬁﬁq
T gfi?

(1) fafafy-snafa faw

(2) 3T

.(3) eI

(4) ==i

75. fr=fafas 4 @ F9-w fagm oftrm =1 @

W@?ﬁﬂ%?
(1) T & fawgeeg it SR wHim w0

'(2) JATTEHAI! W OHMER), F@e@ 3R

e % qedl W

(3) 1w wEwsEl H fagm =1 Im afia F:A
H WA HE

(4) Tagm =1 M Aa s
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76. The continuous and comprehensive 76. fgm & &\Fﬂ'@lﬂ ¥ wad Q'q‘ NI He A H

evaluation in science means— e —
(1) more frequent test and (1) *ifu arad] s wd adien
examination .

(2) e & (e Bg W Tt iR

(2) routine activities and exercises to

assess learning Sdall
-
(3) evaluation of all aspects of science (3) T % wft weqgedl 1 YA
(4) summative and . < (4) ¥iftm w@ AT qeATHA

assessment

; 77. fefeifas & | FR-w wwen-wauE &y =
77. Which one of the following is not a step T T TE R
of problem-solving approach?

(1) TEYH 1 TAE T
(1) Attempt to solve

(2) Ty Ferrer

(2) Drawing conclusion

3) A
(3) Observation )

(4) feafa i e s
(4) Visualizing the situation ) v

78. Fr=fafed 7 & sF-w fagm § srgea
78. Which one of the following is a step of H 3 fafu

analogy strategy in science? T =}

(1) Presentation of abateaeEbH (1) SPIIA hl TEAER

(2) Interlinking concepts (2) SrEuRoN N TH-gW A A
(3) Application (3) IwTmM

(4) Map similarities (4) THE@E % fEm
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79.

80.

81.

82.

83.

84.

The longest snakes found in the
world are—

(1) anacondas

(2) boas

(3) reticulated pythons

(4) vipers

Yoga is done by the people in the world
because—

(1) it keeps people healthy
(2) it increases hunger

(3) it brings happiness

(4) it is a simple exercise

The vaccine for

discovered by—

(1) Robert Koch

(2) Edward Jenner
(3) Alexander Fleming
(4) Ronald Ross

smallpox was

Which one of the following is used as
preservative?

(1) Sodium benzoate
(2) Ammonium sulphate
(3) Sodium chloride
(4) Copper sulphate

Yeast is used for the production of—
(1) curd

(2) sugar

(3) common salt

(4) alcohol

Mitochondria : ATP :: Ribosome : ?
(1) -Fat

(2) Protein

(3) Vitamin

(4} Carbohydrate

79.

80.

81.

82,

83.

84.

HER A YA S arel d9 o |/ §—

(1) TR

(2) =M

(3) SRR 3T

(4) IR

T & G g 9 R st @, it —
(1) ¥& &Pl & @y TEd 8

(2) T @ T @

(3) I8 Ghwal @ &

(4) 98 TF AHH IEM &

<=k o 21 I AMASHR ____ & g T )
(1) TR+

(2) TEaEE AW

(3) ISt FARTT

(4) UATes TH

Fr=fafga 1 @ forae @M s gfags F w9
A forgn wran 27

(1) fsam S

(2) sy Tethe

(3) wifsam =Ee

(4) IR Gethe

A2 1 ITFT ___ % Ieqred H B wiman 3
(1) =&

(2) =frh

(3) |HWOT 79

(4) TeETe

RISl : To fo o :: Tgaram : ?
(1) ==

(2) S

(3) Taifm

(4) WTeETESE
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85’

86.

87.

88.

89.

90.

If the frequency of a simple pendulum
is 2 Hz, how many oscillations will it
complete in 16 seconds?

(1) 16 (2) 32
(3) 64 (4) 8

Which one of the following metals
burns if kept in air?

(1) Magnesium

(2) Zinc

(3) Aluminium

(4) Sodium

Magnesium hydroxide [Mg(OH),] is
used as—

(1) reducing agent

(2) anti-acid

(3) fermentation agent

(4) oxidizing agent

Which one of the following gases burns
with pop sound?

(1) Hydrogen

(2) Nitrogen dioxide

(3) Sulphur dioxide

(4) Oxygen

Which of the following is/are example(s)
of non-contact force?

(1) Muscular force

(2) Gravitation force

(3) Magnetic force

(4) Both (1) and (2)

Diabetes is
hormone.

(1) adrenaline
(2) insulin
(3) thymosin

controlled by

(4) thyroxine

85

86.

87.

88.

89.

90.

. IR T T Ao B
1smﬁmamrm$$ﬁ’a“

(1) 16 (2) 32

(3) 64 4) 8
Frefafaa % 4 <=-d@

izl g1 91 | W@ W S
(1) fifyem

(2) v ()

(3) Yyt

(4) wfeam

A TEgEES [Mg(OH),] # Iwm
% &9 ¥ T < R

(1) y=Td Flh

(2) wfe-ar

(3) fohvam Fr

(4) T

Frafafa 3 & FF-6 w9 f =i F Ty
werdt 87 '

(1) EENH

(2) A SRR

(3) HTH BIFATFATES

(4) HieefsH

fefafes & 8 FR-wA w58 7/
TR /%7

(1) s 5

(2) TR S
(3) Tt &t

(4) (1) 3 (2) 3

wyie I g BT g Frfa 27
(1) Tgifem

(2) ghem

(3) I

(4) gmifEEA
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PART—III / wmT—III
SOCIAL STUDIES/SOCIAL SCIENCE / Wi 3eaaq /amatimes fogm

Directions : Answer the following questions
by selecting the correct/most appropriate
options.

31.

32.

33.

34.

— ww

A narrow strip of land Joining two
landmasses is known as—

(1) isthmus
(2) island
(3) bay

(4) strait

Which one of the following continents
is smallest in size?

(1) South America

(2) Africa

(3) Europe

(4) Australia

At the upper primary stage, Social
Science comprises of—

(1) History, Geography, Economics,
Sociology

(2) History, Geography, Political
Science, Economics ,

(3) History, Geography, Political
Science, Sociology

(4) History, Geography, Political
. Science, Psychology

Inductive learning is contradictory to

which one of the following approaches?

(1) Structure training

(2) Simulation

(3) Mastery learning

(4) Expository teaching

Ay : Fefafaa g@ F W P F fou o /a=R
Iug ey gHu|

31. mmwmmﬂ,sﬁ?ﬁ'aﬁwﬁuwﬁﬁ
Th-ge | SISl 8, 30 F1 FEd of

(1) TrerEfy
(2) &9
(3) @l
(4) weriy
32. fy=fafed § ¥ FH-w1 ey AR § wa@
Bl 37
(1) <fémor st
(2) sttt
(3) =9
(4) seferm
33. = Wy T W wmves g i i 3
(1) sfera, i, s, qars
(2) 3foem, e, Tsehf-Rgm, s
(3) sfirers, sy, TSR, T
(4) sforere, spiver, TEfs-fm, TR

34, Wﬁwﬁ%ﬁ%mﬁmw
Teremsaredt 27

(1) ST gRieo
(2) 3rgH

(3) fagomes: atfermg
(4) STEIETTH e
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35. Read the given statements A and B and

36.

37.

38.

39,

™ 77

select the correct answer :

A. Critical thinking promotes the
building of concepts, application
and expansion of ideas.

B. It does not help in understanding
and evaluating arguments and
beliefs of others.

(1) A is false and B is true
(2) Both A and B are false

(3) Both A and B are true

(4) A is true and B is false

What is an empirical evidence?
(1) A numeric approach for research
(2) Data measured in metric units

(3) Data gathered wusing
methods of data collection

(4) Data gathered in the real world
through the senses

reliable

The models/replicas of physical
features are most suitable for
teaching—

(1) Economics

(2) Geography

(3) Political Science

(4) History

The collection of weather information

from the local newspaper is an example
of which type of source?

(1) Primary

(2) Secondary

(3) Tertiary

(4) Both primary and tertiary

In which type of classroom, the

students with learning disabilities
learn alongside other students?

(1) Special
(2) Inclusive
(3) Modern
(4) Exclusive

5. fu g FeAl A 3 B I 9fey 3l g swm w

Wa?fﬁﬂl:

A. ARS8 urensdt % fior g
R % 7gwEm R fawn R agEn 3@
R

B. e g@ll & a@i i favard 1 @we ain
oA FRA A Hee TE F |

(1) A 3@ B @@ @
(2) A 3R B2l 38 &
(3) A 3l B aFi 94 &
(4) A Ed ? ¥R B 3@ §

36. VIS WIEd 1 87

(1) rgaum % fog us seaes g

(2) e gehreEl W Y A3

(3) el ¥ wwr % e alwi F1 3wm

(4) 3l % Wem A Srafas g § CHbE
i3

37. siftw fwasi & wiea/wiogiar

g 6 forg weR il 3uge )
(1) s

(2) Fhe

(3) TeHa-faam

(4) 3fem

38. WY TER-1F § MEq 6 ARl 19U

| Wb 1 | 87

(1) wafieh

PIRECIRES

(3) Tl

(4) wufte IR s <A

39. Hi@d i wgma 9 fanefl g wer A wan

H = ol & Wy diwd 87
(1) foerm

(2) wEmEEh

(3) snyf

(4) =
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40. Who has given the following theory? 40. fr=fifaa fagia frm fem @7

“All children go through the same ‘ot w= R F wEE gEY ¥ W F,
sequence of development, but at Sfre fifim = A1 gafe e = 9 @@ 3
dlifferent're.a.fies. 'g‘hex:efgfq;e:ﬁ:he;_;'gus; e % T T wfew =RE@ T=it st o
plan activities for individual childre 5
and small groups, not just for the class H‘Iﬁ % for wfafafat RIESIEEIE ST
as a whole. () B0 T
(1) D. Purcell
(2) So THo I
(2) J. H. Bell ;.
' LCIE ;
(3) J. Piaget (3) o |
(4) Hio TTo e .

(4) C. L. Ogden

41. In order to promote cooperative 41, wen # wer fuen 1w [ F fow @
learning in the classroom, a teacher fherer =1 afge—
should—
(1) 3¢ =aferma qieemTe 2

(2) F ¥ Rrg war A SR wE A fahi
£

(1) give them individual projects

(2) divide the class in small groups for

work

(3) provide them various sources to do (3) e # w6 fag 3% f&ivm LI
the project TEH M

(4) engage students in debate and (4) BT+ agd iR wr=iati # T
discussions .

42. A self-guided, self-disciplined thinking | 42+ @ T-fefm, se-spmfi 19 1 T
which attempts to reason at the I Wk A R F IS WKW b B
highest level of quality in a fair-minded %1 WA Bl ¢, I FEd 6—
way is called—

(1) wiew a9
(1) complex thinking
2) ghemm ¥
(2) intelligent thinking &
(3) abstract thinking (3) 34'5@@1?
(4) critical thinking (4) SAEAHS He

43. The colours used in the Ajanta Caves | 43. 3fsial To fasi # gme feg o o Frafafiaa

Paintings have been derived from T 9 g wraf | v 7
which of the following materials? PR

(1) Graphite (1) Aree

(2) Plants and minerals (2) Het R @R
(3) Slate (3) we |

(4) Remains of animal organs : (4) w3 37 % Ry
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44, The earliest manuscripts were written

45.

46.

47.

48.

on—

(1) stones

(2) paper

(3) wood

(4I} palm leaves

Which one of the following periods is
longest in the human history?

(1) Mesolithic

(2) Neolithic

(3) Megalithic

(4) Palaeolithic

Read the given statements A and B and
select the correct answer :

A. Mehrgarh is located in a fertile
plain near Bolan Pass of Pakistan.

B. Evidences of farming and herding
are found here.

(1) A is false and B is true
(2)
(3)
(4) A is true and B is false

Both A and B are false
Both A and B are true

In which one of the following States of
India, the largest number of Harappan
sites have been found?

(1) Haryana
(2) Gujarat

(3) Jammu and Kashmir

4) Punjab

‘Rig.Veda’ was originally composed in
which one of the following languages?

(1) Pali

(2) Sanskrit
(3) Prakrit
(4) Brahmi

44, wad A wighifEl o fomdt o off)

(1) weerd
(2) F
(3) TRl
(4) arg T

45. Ta 3he@ A Frefafas § ¥ PR aEfy

47.

48.

(FTet) T @t &7
(1) HETSIO] el
(2) FaTHOT A
(3) FETITSTOT et
() T

46. fau U FAl A 3R B # qfe 3R €& IW

W?ﬁﬁq:

A Y0 GIfPEE % Sed & % TE W&
IS oM A fRm B

B. ¥el Qdl 3 yyEer $ |IE 91e S B
(1) AEE t IR BEAR

(2) A ¥R B2l @ ®

(3) A 3 B EH g ®

(4) A ¥4 R 3R B @A §

ayd & Frefafae ool & & e ™ 9 A
T % TR g8 ¥ vEw § i 17

(1) efemm

(2) Tord

(3) v 3R FHHR

(4) T

‘wae’ Iw w9 A FEfafee § @ e oy
i T ofi?

(1) wreh

(2) He

(3) Wi

(4) smeh
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49. The

50.

51.

52.

~ first ruler of
Mahajanapadas in the sixth
BC was—

Magadha
century

(1) Prasenjit

(2) Bimbisara

(3) Ajatashatru

(4) Mahavira

Which one of the following is not
among the three jewels of Buddhism?
(1) Dhamma

(2) Ahimsa

(3) Sangha

(4) Buddha

-Who among the following elects the

Rajya Sabha Members?

(1) Voters in Parliamentary Constitu-

encies
(2) Lok Sabha Members

(3) Members of Legislative Assemblies
(MLAs)

(4) Voters in Assembly Constituencies

Which of the following systems of
government was adopted by India?

(1) Presidential and Federal
(2) Presidential and Unitary
(3) Parliamentary and Federal

(4) Parliamentary and Unitary

49,

50.

51.

52.

odl TAed f@ @ § WY WA % YR
HF A—

(1) wasia

(2) Tafemr

(3) TR

(4) HETER

frafafea 4 & f¥F-w dg-wd % Bl 4 9
TE 87

(1) w=

(2) erfean

(3) W

(4) €<

frafafaa % & 7 TsgEW w_E w FE
a1 27

(1) mﬁafaq%ﬁ%m

(2) <wEd B

(3) Tauraw & v (faums)

(4) Taumas fafaa-29 F maem

W g Fefafas & | fre wem wored =
QT T 977

(1) gufa 3fv e

(2) Tgufc 3R TeHIe

(3) H®dm™ iR wefiy

(4) HEdE R TEHE

Scanned by CamScanner



53.

54.

55.

56.

How many Parliamentary Constitu-
encies are reserved for the Scheduled
Castes?

(1) 84
(2) 47
(3) 74
(4) 48
Which one of the following Funda-

mental Rights is violated due to
practice of untouchability in India?

(1) Right to Freedom

(2) Right against Exploitation

(3) Right to Constitutional Remedies
(4) Right to Equality

As per the Constitution of India, which

one of the following is not a Funda-
mental Right?

(1) Right against Exploitation
(2) Right to Freedom of Religion
(3) Right to Property

(4) Right to Education

Untouchability refers to the
discrimination on the basis of—

(1) gender

(2) caste

(3) race

(4) physical disability

57. Who appoints the Chief Minister?

(1) The Prime Minister
(2) The Governor
(3) The Chief Justice of the High Court

(4) The President

53.

54.

55.

gt sfeat % :
i b

(1) 84

2) 47

3) 74

(4) 48

uRG § Gl WU & wR0 Frefafed #§ )
Toru Aiiferes arftreRr &1 3gea e wman 27

(1) e 1 AR

(2) wiyw & foreg srfeeER

(3) HauTRes STER) &1 A

(4) FHFA 1 SHR

uie % GRum ¥ ogen, Prefafew # R
F-91 Hiferen rTUHR T 37

(1) wiw & foeg saferam

(2) g I N AFR

(3) w9t &1 AUFR
(4) foen =1 AR
56. SEIWAl % YR W VW H Hahid
EzGiid
(1) fem
(2)
(3) =W
(4) T fametrra
57. e # TR Faw w87
(1) e
(2) TS

(3) I AAHEE & J&d AU

(4) TgEfd

rmmmn
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58. Who appoints the Governor?

59.

60'

61.

62.

(1) The Chief Minister
(2) The Chief Justice of India
(3) The President

(4) The Prime Minister

Who elects the Prime Minister?

(1) The Chief Ministers

(2) MPs

(3) MPs and MLAs

(4) The Council of Ministers

Who among the following is called the
first citizen of India?

(1) The Home Minister

(2) The President

(3) The Prime Minister

(4) The Chief Justice of India

Who among the following is called the

first citizen of a State in India?

(1) The Home Minister

(2) The Governor

(3) The Chief Minister

(4) The Chief Justice of the High Court
The current Lok Sabha (from 2014
onwards) is the—

(1) 14th

(2) 15th

(3) 16th

(4) 13th

58. TSAYTE ) F1gw H@l 27

(1) geas
(2) WRG % GEa A

(3) Tgafd
(4) wamEA

59, WYFHA F1 FAE FA H &7

60.

61.

62,

(1) et

(2) |

(3) wrEe 3R faus

(@) ifit ) g,

fr=ffaa & ¥ frae! YRa &1 ggan AT FE
ST 87

(1) e

(2) Tgufd

(3) warEE

(4) ¥RE % &I AR
fafafga & ¥ fFow wma § =9+ wgen
AR el S 27

(1) eef

(2) TSI

(3) T

(4) 3= <TEE % g FEE

FAHH AHE (2014 F =) B—
(1) 144
(2) 154
(3) 164
(4) 134
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63. Who is the current President of India?
(1) Pratibha Patj
(2) M. Venkaiah Najdy
(3) Ram Nath Koving
(4) Narendra Modj

64. Which of the following is not
mentioned in the Constitution of India?
(1) Structure of the Government
(2) Names of political parties
(3) Rights of the Citizens
(4) Names of the States and Union

Territories

65. ’g;l'g;l ggminates Members to the Rajya
(1) The Vice President
(2) The Prime Minister

(3) The Chief Justice of the Supreme
Court

(4) The President

66. Who among the following was the
President of the Constituent Assembly
of India?

(1) Dr. B. R. Ambedkar
(2) Dr. Rajendra Prasad
(3) Jawaharlal Nehru
.{4) C. Rajagopalachari
67. Who among the following was the only
Indian Governor-General of India?
(1) B. Pattabhi Sitaramayya
(2) T. T. Krishnamachari
(3) C. Rajagopalachari
(4) Dr. Sarvepalli Radhakrishnan

63. WA 1 AR TEARY 3 37

(1) when ofea

(2) o %A Tz

(3) Y Hifdg

(4) T&=z W&
64.W%ﬁmﬁﬁnﬁrﬁaaﬂ%ﬁmmga@

&t o &7

(1) &R F1 g

(2) TSI &l % AW

(3) iRt % iR

(4) T 3R FR-mita w29 F ™

65. T9aYT ¥ Hawdl 1 S THifFa w27
(1) Iwrgafa
(2) wurHt
(3) waT= mTeR % qEq A
(4) Teafa

66. F=fafad & ¥ o1 wra 6 SRYR Ty =
e a7

(1) STo o 3o e
(2) STo TF WER
(3) VETEES JEw
(4) o TSR
67. ffefen § ¥ $F wRa 1 A wrd
TER-F o017 '
(1) o wzifdy Hramoren
(2) Ao Zo FommET
(3) #to TSFIITAEH
(4) o T ToF
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68. When was the Constitution of India

69.

70.

71.

adopted?

(1) November 26, 1947

(2) November 26, 1949

(3) January 26, 1950

(4) August. 15., 1947

Who among the following played a

decisive role in integrating the Princely
States of India?

(1) Sardar Vallabhbhai Patel

(2) Dr. B. R. Ambedkar

(3) C. Rajagopalachari

(4) Jawaharlal Nehru

Which of the following deal with the
matters in the Concurrent List of the

Constitution of India?

(1) State Governments and Local

Government Bodies
(2) Union Territories
(3) Local Government Bodies

(4) Union Government and State

Governments

Who among the following was the
Chairman of the Drafting Committee in

the Constituent Assembly of India?

(1) Dr. B. R. Ambedkar
(2) Dr. Rajendra Prasad
(3) Jawaharlal Nehru

(4) C. Rajagopalachari

68.

69.

70.

71.

YR 1 TfAUH Fa 91 71 917
(1) 26 7@, 1947

(2) 26 TR, 1949

(3) 26 sFadl, 1950

(4) 15 37T, 1947

frefRan & & e e ) femd ) wha
3 & e v fuTe o7

(1) HER Ig¥ATE 9ed

-

(2) Sle o 3o BT
(3) Hio TeTITETET

(4) SARETE AE®

frafafad % @ $9 wra & d@fagm 6 awadi
= & Adl § w1 e 87

(1) =7 Tt 3R i T e
(2) *x-wfha wew

(3) T T e

(4) % TR 3N TG TR

Fafafas 4@ 99 Y N afyym @ &

el wibfa & sieag A7

(1) Slo sflo ARo 3prEam
(2) Eo TSz wHTG

(3) VaTetEe JEw

(4) o TsTITETHY
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72. In the 18th century, under whom did

73.

74.

7S.

Bengal gradually break away from th
Mughal control? * :

(1) Nadir Shah

(2) Alivardi Khan

(3) Burhan-ul-Mulk

(4) Murshid Quli Khan

Who among the following Governor-
Generals decided that Bahadur Shah
Zafar would be the last Mughal
emperor and after his death none of the

descendents would be recognized as a
ruler?

(1) William Bentinck

(2) Lord Canning

(3) Lord Cornwallis

(4) Lord Dalhousie

Which Governor-General declared that
Awadh was being misgoverned and
British rule was needed to ensure
proper administration?

(1) Lord Canning

(2) Lord Dalhousie

(3) Lord Mountbatten

(4) Lord Ripon

Which ruler of Kanpur called himself
‘Peshwa’?

(1) Bajirao I

(2) Bajirao II

(3) Bahadur Shah Zafar

(4) Nana Saheb

™ v s

72.

73.

74.

75.

1841w # Freh g # Fme dR-AR g
fdam @ 3@ & T

(1) feTamg

(2) Feliad @™
(3) FTEA-IT-Je=h
(4) e gl @A

frfofaa #§ ¥ fre TER-Sa 3 Saen e
5 sEgmE SR ARad FrE wEE w0 R
T gy ¥ a1 TR o S F aEE 6 w9
A ygaT el SQm?

(1) faferm dfés

(2) @fE Fm

(3) wiE HiHaTe™

(4) WS s

forg et-sa A it fen & ey w em
ERC I ERE RIS IRCIR IS BN
gﬂﬁﬁam%mﬁﬁnwﬁw
(1) e HFm

(2) @iE TR

(3) WIS WReaed

(4) @E fom

FAY 68 T I GE B Y’ war?
(1) =wiTE gem

(2) wwira fid

(3) ETGWME FH

(4) T @R
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76. The best methodology to teach the | 76. ‘Fm@R’ % fowa # ygr & fou w=@ Iygnf

theme ‘Factory’ would be— fafy grfi— |
(1) to invite a resource person (1) foreh Fordie =1 Fifea e f
(2) to organize a visit to an industrial (2) foreh shrenfies FRER H A A"
plant Exc!
(3) to screen a documentary film (3) -@ﬁgﬁq{ﬁg—ﬂ foreq fe@mm
(4) to narrate a story (4) TH HEH A
77. What is EDUSAT? 77. gz (EDUSAT) 3 F1 3w &7
(1) A newly discovered planet in the (1) Hdisd #§ @1 T T T4 TR
solar system S & e
. (2) T & Sl A Jeedfd i FHaT |
(2) An asteroid found between the o g s 2 |

orbits of Mars and Jupiter

(3) T wa-Fffa wrdE IR
(4) ke Rre 3qdm wa-ffifa soe = g

(3) A man-made Indian satellite

(4) The rocket that carries man-made

satellites to be placed in the orbit it wam % TuTa @ & T frm s @
around the sun
78. ‘Gwarf’ ol ‘dww # Foafafan A |
78. The verses and ideas of which one of TeA Bl ¥ g ok fEml = widm fe
the following personalities have been o R?
preserved in ‘Panchvani’ and ‘Bijak’?
(1) =R
(1) Kabir
2) TEATHR
(2) Guru Nanak @)
, (3) e
(3) Ravidas
4) et
(4) Mirabai 4
79. t@r H TH F f-fam, fet faeg 5w
79. The mural painting from Ellora Caves T
which shows Vishnu as Narasimha, the %ﬂhg‘; e % w9 & e n 8, v
man-lion, is a work of which period? 75% '
(1) Rashtrakuta period (1) TEHZ Hrct
(2) Chalukya period (2) =TI A
(3) Gupta period (3) T§ =

(4) Gurjara-Pratihara period ) W-Eﬁm’(?ﬂa
80. fFfafln & & Fm-m dea sufeg & o

80. Which one of the following organiza-

tions believes in Upanishads? @l &7

(1) Ramakrishna Mission (1) TwF o
(2) Satyashodhak Samaj (2) T=MYF TN
(3) Seva Samaj ' (3) &1 wuW

(4) Brahma Samaj (4) & 9=
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81. Wind vane is used for measuring—

82.

83.

(1) air pressure
(2) wind direction
(3) air temperature
(4) wind velocity

Which one of the following layers of the

atmosphere helps in the transmission
of radio waves?

(1) Mesosphere

(2) Thermosphere

(3) Exosphere

(4) Stratosphere

Identify the various layers of the earth

in order from interior to the outermost
layer :

]
]
]

(1) Mantle, crust, outer core, inner

core

(2) Inner core, outer core, crust,
mantle

(3) Inner core, outer core, mantle,

crust

(4) Crust, mantle, outer core, inner
core

81.

82.

83.

ar-freefl @ wdm @ A % fae feea
ST ®7

(1) arg 3
(2) arg feam
(3) =g ATYHH

(4) =g o

Trpee # FEfifad § @ FE-@ 9@ e
T % we # HeE Nl o

(1) AeFdeEd

(2) =T ArgEa

(3) =fetea >

(4) HHAIHSS

ged] it fafim wwdl 1 %9 4 ofiais @ adan
9d e YEEIY ;

(1) ﬁm,v@,mﬁm,aﬁﬂaﬁs
(2) i 1S, ATl e, T, Hew
(3) iafeF e, aEl Hie, Hew, WA
(4) WA, feq, IRt Fe, Nk wie
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84. Observe carefully the location of the
sun, earth and moon in the given
diagram and tell what it depicts :

O Moon

-6

(1) Lunar eclipse
(2) Spring tide
(3) Neap tide

(4) Solar eclipse

85. When the river enters the plain, it
bends and flows forming large bends
known as—

(1) floodplain
(2) meander
(3) oxbow lake

(4) levee

86. Which means of transport is extremely
useful in most inaccessible areas and
in time of calamities for rescuing
people and distributing food, water,
clothes and medicines?

(1) Railways
(2) Roadways
(3) Waterways

(4) Airways

84, Ty my om@ # g, geh o < i R )
Eﬁqﬁmaﬁ{mﬁaﬂmm%:

(O

i
.@

(1) I5-T&9
(2) Teq SER-HEd
(3) TY STR-HI

(4) Fh-TEm

85. <& 79 fe & YIw wdl ®, @ TE §S W
3R o2 g SER Tl 8, S FEAdl e—

(1) <T¢ &1 M
(2) fawd
(3) =musfia S
(4) ey
86. 3iftem gim &1 ¥ 3R el % wwg wn
F T R WSH, WA, FIS TE IR @
 Taafd w0 % T ammEE w1 - e 9w
I 7
(1) Temmi
(2) wSHAT
(3) e
(4) e
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87. The branch of geo

88.

89,

: o graphy whi
with corpposxtmn of a lfar)t’iculeltglllnfeals
population is called— E

(1) hiogeography
(2) demography
(3) human geography
(4) urban geography

Assertion (A) :

The sun sets in Gujarat about two
hours after Arunachal Pradesh.
Reason (R) :

Arunachal Pradesh is on

: a higher
latitude than Gujarat.

Select the correct option from the given’

alternatives,

(1) Both (A) and (R) are true, but (R)

does not explain (A)
(2)
(3)
(4)

(A) is true and (R) is false

(A) is false and (R) is true

Both (A) and (R) are true, and (R)
explains (A)

Which one of the following is a non-
conventional source of energy?

(1) Natural gas

(2) Solar energy

(3) Coal

(4) Firewood

90. The breeding of fish in specially

constructed tanks and ponds 1is

known as—

(1) viticulture
(2) horticulture
(3) pisciculture

(4) sericulture

87.

88.

89,

90.

i i 98 rE, S ERE qEE SEee 6
Gea ¥ fvg | g6fa R, S 2—

(1) ¥& spa

(2) SHEifeTH!
(3) =
(4) T g

AfFA (A) :

¥4 T # ST T A T A R
TR 3T Bl B

1 (R) :
FEUITES W, O i g H I &
T 8 2

w7 ferent & @ fase &1 w9 AR

(1) (a) 3R (R) <Mt ¥ &, ofF (R) (A)
TIE e T B

(2) (A) ¥ & 3R (R) WA &

(3) (A) I¥F ? 3R (R) ¥4 B

(4) (A) 3R (R) I ¥ &, 3R (R) (A) =
TIE &l

frefdfad # ¥ fR-m o=t w1 W

e ?7

(1) wrpfch T

(2) dR F=i

(3) =iEem

(4) 3

i w7 faffa &1 R TEmE ¥ Ao #

TS FEE t—

(1) fafRsemt

(2) FidiFe

(3) faeise=R

(4) Ffwe=R
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PART—IV
Language—I

ENGLISH

IMPORTANT :

Candidates should attempt questions from Part—IV (Q. Nos.
91 to 120), if they have opted for ENGLISH as Language—I only.

Directions : Answer the following questions

(Q. Nos. 91

to 105) by selecting the

correct/most appropriate options.

91. Grammar-translation

92.

93.

method is
basically used to teach—

(1) foreign language

(2) rules of any language usage

(3) classical language

(4) grammar

Which one of the following can be

used as a rubric for the assessment of

fluency and coherence of language?

(1) Can initiate and logically develop
simple conversation on a familiar
topic

(2) Is always comprehensible, uses
appropriate intonation

(3) Demonstrates hesitation to find
words or use correct grammatical
structures

(4) Can express with some flexibility
and appropriacy on variety of
topics

Which one of the following is not the

objective defined by NCF-2005 for

teaching English at upper primary

level?

(1) To use dictionary suitable to their

needs

(2) To be able to articulate
individual/personal = responses
effectively

(3)- To promote learners’ concep-

tualization of printed texts in
terms of heading, paragraph and
horizontal lines

(4) To negotiate their own learning
goals and evaluate their own
progress; edit, revise, review their
own work

94.

95.

96.

97.

If you are listening to the descrip?ion
of how to reach a specific location,
then you are doing—

(1) focused listening

(2) intensive listening

(3) extensive listening

(4) casual listening

If a language teacher has put the .
words ‘school, teacher, headmaster,

peon’ in a group, then she is
following—

(1) semantic grouping

(2) phonetic grouping

(3) grammatical grouping

(4) lexical grouping

“At the initial stages of language
learning, may be one of the
languages for learning activities that

create the child’s awareness to the
world.” (NCF-2005)

(1) Vernacular language
(2) Second language

(3) Hindi

(4) English

Little or no attention is given to

pronunciation in method.
(1) grammar-translation

(2) CLT

(3) SLT

(4) audio-lingual
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98. Which one of the followin

99,

100.

101.

g does not

come under the principle of selection

and gradation?
(1) Availability

(2) Coverage

(3)
(4)

Frequency

Accuracy

The phenomenon, where a single word
is associated with two or several
related meanings, is known as—

(1) homograph

(2) polysemy

(3) homonymy

(4)

homonyms

“The dog lived in the garden, but the
cat, who was smarter, lived inside the
house” is an example of—
(1) complex compound sentence
(2) complex sentence
(3) compound sentence

(4) simple sentence

If a student of language is cramming
his/her answers, then he/she would
not be able to—

(1) attempt vocabulary-based exercise
(2) attempt structural questions
(3) attempt creative writing

(4) attempt question answers

102,

103.

104.

105.

if a student is
During reading, 1
piercing information together as they
read a text keeping track of what is

happening, he/she is—
(1) skimming

(2) paraphrasing

(3) synthesizing

(4)

inferring

Which one of the following does not
affect the intonation?

(1) Tone

(2) Rhythm

(3) Loudness

(4) Voice/Pronunciation

_____ are involved in thinking.

(1) Image, imagination, concept,
proposition

(2) Irﬁagination, language, concept,
.proposition

(3) Image, language, concept,
proposition

(4) Image, language, imagination,
proposition -

Language laboratory is the place
where the learners have to listen on
headphone. The language labs are set
up with a view to provide listening
activities in order to develop—

(1) speech habit
(2) criticizing habit
(3) listening activities

(4) analysis habit
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Directions : Read the passage -carefully
and answer the questions that follow
(Q. Nos. 106 to 114) by selecting the
correct/most appropriate options.

Born out of the forces of globalization, India’s
IT sector is undertaking some globalization
of its own. In search of new sources of rapid
growth, the country’s outsourcing giants are
aggressively expanding beyond their usual
stomping grounds into the developing world,;
setting up programming centres, chasing new

* clients and hiring local talentﬁhrough
geographic diversification, Indian companies
hope to regain some momentum after the
recession. This shift is being driven by a
global economy in which the US is no longer
the undisputed engine of growth. India’s
IT powers rose to prominence largely on the
decisions made by American executives, who
were quick to capitalize on the cost savings to
be gained by outsourcing noncore operations,
such as systems programming and call
centres, to specialists overseas.

Revenues in India’s IT sector surged from $4
billion in 1998 to $59 billion last fiscal, but
with the recession NASSCOM forecasts that
the growth rate of India’s exports of IT and
other business services to the US and Europe
will drop to at most 7% in the current fiscal
year, down from 16% last year and 29% in

2007-08.

Factors other than the crisis are driving
India’s IT firms into the emerging
world. Although the US still accounts for 60%
of the export revenue of India’s IT sector,
emerging markets are growing faster.
Tapping these more dynamic economies
won'’t be easy, however. The goal of Indian IT
firms for the past 30 years has been to woo
clients outside India and transfer as much
of the actual work as possible back home,
where lower wages for highly skilled
programmers allowed them to offer
significant cost savings. With costs in other

emerging economies equally low, Indian firms
can’t compete on price alone.

To adapt, Indian companies which are
relatively unknown in these emerging nations
are establishing major local operations
around the world, in the process hiring
thousands of locals. Cultural conflicts arise
at times while training new recruits.
In addition, IT firms also have to work extra
hard to woo business from emerging-market
companies still unaccustomed to the concept
of outsourcing. If successful, the future of
India’s outsourcing sector could prove as

bright as its past.

106. What is the author trying to convey
through the phrase “India’s IT sector
is undertaking some globalization of
its own”?

(1) The Indian IT sector is competing
with other emerging nations for
American business.

(2) The Indian IT sector is
considering outsourcing to
developing economies.

(3) Indian IT firms are engaging
- in expanding their presence
internationally.

(4) India has wusurped America’s
position as the leader in IT.

107. Which of the following factors made
the services offered by the Indian IT

attractive to the US?

A. Indian IT companies had
expertise in rare core operations

B. The US lacked the necessary
infrastructure and personnel to

handle mass call centre
operations
C. Inability of other equally

cost-efficient developing countries
to comply with their strict policies

(1) Only A '
(2) Only A and B
(3) Only C

(4) None

Scanned by CamScanner



108. What has caused Indian IT firms to
cha1_1ge _the way they conduct
business in developing countries?

(1) The demands of these markets
are different from those of India’s
traditional customers

(2) Wages demanded by local
workers are far higher than what
they pay their Indian employees

(3) Stringent laws which are not
conducive to outsourcing

(4) The volume of work being
awarded cannot be handled by
Indian firms

109. What do the NASSCOM statistics
about Indian IT exports indicate?

(1) Indian i3 firms
exorbitantly for their services

(2) India has lost
emerging IT hubs

out to other

(3) The Indian IT sector should
undergo restructuring

(4) Drop in demand for IT services by
g Europe and the US

4

110. According to the passage, which one
of the following is not a difficulty that
Indian IT firms will face in emerging
markets?

(1) Local IT services are equally
cost-effective

(2) The US is their preferred

outsourcing destination

(3) Conflicts arising during the
: training of local talent

(4) Mindset resistant to outsourcing

charge

111. Which of the following is/are not true
in the context of the passage?

A. The recession severely impacted
the US but not India.

B. India is trying to depend less on
the US as a source of growth.

C. The future success of Indian IT
firms depends on emerging
markets.

(1) Only B and C
(2) Only A
(3) Only B
(4) Al A, Band C
112. Which one of the following words is

most similar in meaning to the word
‘chasing’ as used in the passage?

(1) Harassing
(2) Pestering
(3) Pursuing
(4) Running

113. Which one of the following words is

most opposite to the meaning of the
word fundisputed’ as used in the
passage?

(1) Doubtful
(2) Deprived
(3) Emphasized
(4) Challenging

114. Other than crisis, what is driving IT
companies to seek other options?

(1)

(2) The US makes more than 60% of
India’s export revenue

Emerging markets

(3) None of the above
(4) Both (1) and (2)
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Directions Read the extract given
below and answer the questions that
follow (Q. Nos. 115 to 120) by selecting
the correct/most appropriate options.

Break, Break, Break,
On thy cold gray stones, O Sea

And I would that my tongue could utter
The thoughts that arise in me.

0O, well for the fisherman'’s boy,
That he shouts with his sister at play!
O, well for the sailor lad,

That he sings in his boat on the bay!

And the stately ships go on
To their haven under the hill;

But O for the touch of a vanish’d hand,
And the sound of a voice that is stilll

Break, Break, Break,
At the foot of thy crags, O Sea!

But the tender grace of a day that is dead

Will never come back to me.

115. What is ‘breaking’ in ‘Break, Break,
Break’?

(1) Poet’s heart

(2) The wind

-(3) ;The sunshine through the clouds
(4) The sea |

116. The mood of the speaker in ‘Break,

Break, Break’ is—

(1) lighthearted

(2) somber and grieved
(3) energized

(4) contemplative and hopeful

117. The speaker in ‘Break, Break, Break’
observes all the following, except—

+(1) a sailor boy singing
(2) a lady in a tower
(3) ships coming in
(4) children playing
118. The speaker of ‘Break, Break, Break’
cannot—
(1) see
(2) speak
(3) hear

(4) feel

119. In the first two lines of the poem, the

poet uses—
(1) apostrophe
(2) assonance
(3) metaphor
(4) simile
120. The phrase ‘haven under the hill’ is an

example of—

(1) metaphor

(2) alliteration

»(3) ' personification

(4) simile
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PART—V

Language—II
ENGLISH

IMPORTANT : Candidates should attempt questions from Part—V (Q. Nos.
121 to 150), if they have opted for ENGLISH as Language—II only.

Directions : Answer the following questions

(Q. Nos.

121 to 135) by selecting the

correct/most appropriate options.

121.

122,

123.

124,

™ TT I'v™

Students are not organisms. Which
one of the following methods sees
them as a whole person?

(1) SLT
(2) Silent way
(3) CLL
(4) CLT

Writing is the representation of
speech sounds.

(1) graphical
(2) phonetic

(3) systematic
(4) alphabetical

When a teacher uses realia to teach
vocabulary and grammar, she is—

(1) using real objects, actions and
real-life situations

(2) using computer technology
(3) teaching through true stories

(4) using role play as a learning
device

A poem whose first letters of each line
spell out a word is called—

(1) epic

(2) acrostic
(3) haiku

(4) alliterative

126.

127,

128.

125. Decorum in spoken English pertains

to—

(1) clarity and purity of style
(2) correct grammatical usage
(3) voice quality

(4) appropriate gestures

Inquiry-based curriculum is based
on—

(1) inductive reasoning
(2) heuristic reasoning
(3) analogical reasoning

(4) deductive reasoning

Which of the following are structural
words?

(1) Auxiliaries
(2) Prepositions
(3) Conjunctions

(4) All of the above

Conventions of writing include—
(1) proper punctuation

(2) imagination

(3) good vocabulary

(4) story ideas
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129. Positive interference is a kind of—
(1) foreign language
(2) pictorial language
(3) native language
(4) target language
130. In learning the new language,
multilingualism is—
(1) an asset
(2) an interference
(3) a burden

(4) a methodology

131. Note taking is done—
(1) while reading a review
(2) during extensive reference work
(3) while writing an essay

(4) during a lecture.

132. The method of teaching foreign

133.

134.

135.

language without using the pupil’s
first language is—

(1) classical method
(2) grammar-translation method
(3) old method

(4) direct method

Two words have identical sound and
spelling, but not related in meaning.
It is known as—

(1) homonymy

(2) homograph

(3) polysemy

(4) homophone

Language of word is not necessary
for—

(1) conceptual thinking

(2) associative thinking

(3) perceptual thinking

(4) imaginative thinking
Communicative Language Teaching
replaced basically—

(1) Structural Teaching

(2) Situational Language Teaching
(3) Motivational Teaching

(4) Natural Language Processing
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Directions : Read the passage given
below and answer the questions that
follow (Q. Nos. 136 to 144) by selecting the
correct/most appropriate options.

The strength of Indian democracy lies in its
tradition, in the fusion of the ideas of
democracy and national independence which
was characteristic of the Indian national
movement long before independence.
Although the British retained supreme
authority until 1947, the
provincial elections of 1937 provided real
practice before

over India

exercise in democratic
national independence. During the Pacific
War, India was not overrun or seriously
invaded by the Japanese and after the War
was over, the transfer of power to a
government of the Indian Congress Party
was a peaceful one as far as Britain was
concerned. By 1947, ‘Indianization’ had
already gone far in the Indian Civil Service
and army, so that the new government could
start with effective instruments of central

control.

After independence, however, India was faced
with two vast problems, the first, that of
ethnic diversity and the aspirations of sub-
nationalities. The Congress leadership was
more aware of the former problem than of the
second; as a new political elite which had
rebelled not only against the British Raj, but
also against India’s social order; they were
conscious of the need to initiate economic
development and undertake social reforms,
but as nationalists who had led a struggle
against alien rule on behalf of all parts of
India, they took the cohesion of the Indian
nation too much for granted and
underestimated the centrifugal forces of
ethnic division, which were bound to be
accentuated rather than diminished as the

popular masses were more and more drawn
into politics. The Congress Party was
originally opposed to the idea of recognizing
any division of India on a linguistic basis and
preferred to retain the old provinces of British
India which often cut across linguistic
boundaries; it was only in response to strong
pressures {rom below that the principle of
linguistic States was conceded as the basis of
a federal ‘Indian Union’. The rights granted to
the States created new problems for the
Central Government. The idea of making
Hindi the national language of a united India
was thwarted by the recalcitrance of the

speakers of other important  Indian
languages, and the autonomy of the States
rendered  central economic  planning

extremely difficult.

Land reforms remained under the control of
the States and many large-scale economic
projects required a degree of cooperation
between the Central Government and one or
more of the States which it was found
impossible to achieve. Coordination of
policies was difficult even when the Congress
Party was in power both in the States and at
the Centre; when a Congress government in
Delhi was confronted with non-Congress
parties in office in the States, it became much
harder.

136. Choose the word which is most nearly
the same in meaning as the word
‘thwarted’ as used in the passage.

(1) Implemented
(2) Accepted
(3) Diverted

(4) Opposed
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137.

138.

139.

Choose the word which is most
opposite in meaning of the word
‘conceded’ as used in the passage.
(1) Rejected

(2) Denounced

(3) Withdrawn

(4) Criticized

Why was central economic planning
found to be difficult?

(1) Lack of coordination in different
government departments

(2) Autonomy given to the States in
certain matters

(3) Lack of will in implementing land
reforms

(4) Multiplicity of States and Union
Territories

Which one of the following problems
was India faced with  after
independence?

(1) Lack of coordination between the
Central and State Governments

(2) Improper coordination of various
government policies

(3) Increasing the production from
a very low level

(4) Military attack from across the
border

140. Which one of the following issues wa;

141.

not appropriately realized by the
Central Government?

(1) A national
country

language for the

(2) Implementation of the formulated
policies

(3) Centre-State relations

(4) Ethnic diversity of the people

Which, according to the passage,

can be cited as exercise in

democratic practice in India before
independence?

(1) The handing over of the power by
British to India

(2) The Indianization of the Indian
Civil Service

(3) Several democratic institutions
created by the Indian National
Congress

(4) None of the above
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142. Which one of the following statements

143.

144.

is mot true in the context of the
passage?

(1) Economic development and social
reforms were initiated soon after

independence.

(2) The political elite in India rebelled
against the British Raj.

(3) The Congress leadership was fully
aware of the problems of ethnic
diversity in India at the time of

independence.

(4) The Congress Party was originally
opposed to the idea of division of

States on linguistic basis.

Why was the linguistic reorganization
of the States accepted?

(1) Non-Congress governments in
the States demanded such a
reorganization of the States.

(2) No common national language
could be emerged.

(3) Strong pressures from the States
were exerted on the Central
Government to create such States.

(4) The States were not cooperating

with the Central Government.

India was not overrun by the
Japanese during the Pacific War
because—

(1) Japan had friendly relations with
Britain

(2) Japan was interested in India’s
freedom

(3) Japan was skeptical about its
success in War

(4) None of the above

Directions : Read the passage given
below and answer the questions that
follow (Q. Nos. 145 to 150) by selecting the
correct/most appropriate options.

“A principal fruit of friendship”, Francis
Bacon wrote in his timeless meditation on the
subject, “is the ease and discharge of the
fullness and swellings of the heart, which
passions of all kinds do cause and induce.”
For Thoreau, friendship was one of life’s great
rewards. But in today’s cultural landscape
of muddled relationships scattered across
various platforms for connecting, amidst
constant debates whether
Facebook “riendships’ are making us more
or less happy, it pays to consider what
friendship actually is. That’s precisely what
CUNY

Pigliucci explores in Answers for Aristotle :

about our

Philosophy professor Massimo
How Science and Philosophy Can Lead Us to a
More Meaningful Life (public library), which
also gave us this provocative read on the

science of what we call ‘intuition’.

Philosophers and cognitive scientists agree
that friendship is an essential ingredient of
human happiness. But beyond the dry
academic definitions—like, say, “voluntary
interdependence between two persons over

intended to facilitate

time, which is
socio-emotional goals of the participants, and
may involve varying types and degrees of
companionship, intimacy, affection and
mutual assistance”—lies a body of compelling
research that sheds light on how, precisely,
friendship augments happiness. The way

friendship enhances well-being, it turns out,
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has

nothing to do with quantity and

everything to do with quality—researchers

confirm that it isn’t the number of friends (or,

in the case of Facebook, ‘friends’).

145.

146.

147.

The change in the present situation
which has forced us to rethink the
concept of friendship is—

(1) the arrival of social media on the
scene

(2)

there is more
sciences

interest in the

(3) friendships are not possible in
the real world anymore, due to

over-competition

(4)

Bacon and Thoreau’s theories are
no longer available to read

Friendship leads to happiness. Is it
true?

(1) No, there is no relationship
between friendship and
happiness

{2) Friends cannot make each other
happy

(3) One needs to find one’s
happiness alone, with peace of
mind

Yes, researches have proven that
friendship does lead to happiness

(4)

Did Pigliucci’s book discuss intuition
too?

(1)

It just explained science and
philosophy

(2) It discussed Aristotle’s theories
(3)

(4)

Yes

No, it only discussed friendship

148,

149,

150.

Is the quality of friends important?

(1) No, number of comments on

social networking  sites g
important, not the quality of
friends

(2) Yes, it matters

(3) No, quality comes automatically
with quantity

(4) No, it is important to have more

number of friends, quality does
not matter

As per the first paragraph, what are
the debates about?

(1) There are no debates around

friendship.

(2) The quality of comments of social
media is debatable.

(3) Thoreau and Aristotle’s thinking
is at loggerheads.

(4) They are centered around

whether our Facebook friends are
helping us become more or less
happy.

The word that is opposite in meaning
to the word ‘muddled’ is—

(1) chaotic
(2) ordered
(3)

rumpled

(4) confused
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